## Jefferson County Public Schools

Bid Tabulation

Event Name: T-Shirts & Sweatshirts (Nutrition Services)

Event ID: JCPS-8444
Approval Date: June 10, 2025
Date Bids Received: April 14, 2025
Contract Period: June 10, 2025 through May 31, 2026

Comments: Award Status indicates an award

Renewals: Two (2) renewal options

Lot Item								Manufacturer Part					
Nos. 1-2	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Manufacturer / Provider	Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
1	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes Small - 2XL.	*	Eagle Group	1 - Each	125	Rifrigiwear	487	\$45.9000	\$5,737.5000		Awarded	
2	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes 3XL - 5XL	*	Eagle Group	1 - Each	25	Refrigwear	487	\$50.9000	\$1,272.5000		Awarded	
1	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes Small - 2XL.	*	Paix Creations	1 - Each	125	RefrigiWear	487	\$59.0000	\$7,375.0000			
2	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes 3XL - 5XL	*	Paix Creations	1 - Each	25	RefrigiWear	487	\$75.0000	\$1,875.0000			
1	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes Small - 2XL.	*	Cintas	1 - Each	125	RefrigiWear	487	\$59.0000	\$7,375.0000			
2	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes 3XL - 5XL	*	Cintas	1 - Each	25	Refrigiwear	487	\$75.0000	\$1,875.0000			
1	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes Small - 2XL.	*	The 10th Planet	1 - Each	125	RefrigiWear	487	\$61.5000	\$7,687.5000			
2	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes 3XL - 5XL	*	The 10th Planet	1 - Each	25	RefrigiWear	487	\$80.0000	\$2,000.0000			
1	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes Small - 2XL.	*	MPC Promotions	1 - Each	125	RefrigiWear / MPC	487	\$82.5200	\$10,315.0000	I priced these with the 502 Food Works embroidery logo		
2	RefrigiWear-Thermal Lined Sweatshirt (0487)	Per Specifications. Black. Sizes 3XL - 5XL	*	MPC Promotions	1 - Each	25	RefrigiWear / MPC	487	\$106.0900	\$2,652.2500	I priced these with the 502 Food Works embroidery logo		
Lot Item Nos. 3-27	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest.	4600975-2013386		1 - Each	250	Gildan	5000	\$3.2500	\$812.5000			
		APPROVED PRODUCT: Gildan #5000 or equal.										Awarded	
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	100	Gildan	5000	\$4.9000	\$490.0000		Awarded	
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	50	Gildan	5000	\$7.0500	\$352.5000		Awarded	
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	50	Gildan	5000	\$7.0500	\$352.5000		Awarded	
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest.  APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	25	Gildan	5000	\$7.0500	\$176.2500		Awarded	
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000B or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	The 10th Planet	1 - Each	50	Gildan	5000B	\$3.2500	\$162.5000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	

9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	800	Gildan	5000	\$3.2500	\$2,600.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	300	Gildan	5000	\$4.9000	\$1,470.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	100	Gildan	5000	\$7.0500	\$705.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	25	Gildan	5000	\$7.0500	\$176.2500	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
13	T-Shirt, Adult 5XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	The 10th Planet	1 - Each	25	Gildan	5000	\$7.0500	\$176.2500	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	The 10th Planet	1 - Each	50	Colortone	CD100Y / 1000Y	\$8.0000	\$400.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	The 10th Planet	1 - Each	100	Colortone	CD100 / 1000	\$8.0000	\$800.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	The 10th Planet	1 - Each	100	Colortone	CD100 / 1000	\$9.9500	\$995.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	The 10th Planet	1 - Each	25	Colortone	CD100 / 1000	\$11.8500	\$296.2500	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	The 10th Planet	1 - Each	25	Colortone	CD100 / 1000	\$13.2000	\$330.0000	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
19	T-Shirt, Tie Dye. Adult SXL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	The 10th Planet	1 - Each	25	Colortone	CD100 / 1000	\$13.8500	\$346.2500	Additional Color Charge Add: 2 Color Print - \$1.15 3 Color Print - \$1.30 4 Color Print - \$1.45 5 Color Print - \$1.60	Awarded	
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	The 10th Planet	1 - Each	60	Gildan	18000	\$9.5000	\$570.0000		Awarded	
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	The 10th Planet	1 - Each	30	Gildan	18000	\$10.5000	\$315.0000		Awarded	
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	The 10th Planet	1 - Each	10	Gildan	18000	\$11.5000	\$115.0000		Awarded	
													L

23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	The 10th Planet	1 - Each	10	Gildan	18000	\$11.5000	\$115.0000		Awarded	
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	The 10th Planet	1 - Each	10	Gildan	18000	\$11.5000	\$115.0000		Awarded	
25	Screen set up fee.	•	*	The 10th Planet	1 - Each	1	The 10th Planet	Setup Fee	\$0.0000	\$0.0000	Included in Shirt Cost	Awarded	
26	Custom Design Fee.	•	*	The 10th Planet	1 - Each	1	The 10th Planet	Custom Design	\$0.0000	\$0.0000	Included in Shirt Cost	Awarded	
27	Fee per word to add text on front and or back of shirt.	•	*	The 10th Planet	1 - Each	1	The 10th Planet	Additional Location Charge	\$1.0000	\$1.0000	Additional Location Charge Add: \$1.00 per additional location	Awarded	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	Eagle Group	1 - Each	250	Gildan	5000	\$3.1500	\$787.5000			
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	100	Gildan	5000	\$5.1500	\$515.0000			
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	50	same	same	\$5.1500	\$257.5000			
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	50	same	same	\$6.2000	\$310.0000			
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	25	same	same	\$6.2000	\$155.0000			
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000B or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	Eagle Group	1 - Each	50	gildan	5000	\$4.5000	\$225.0000			
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	800	same	same	\$4.5000	\$3,600.0000			
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	300	same	same	\$5.4000	\$1,620.0000			
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	100	same	same	\$5.4000	\$540.0000			

12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	25	same	same	\$6.5000	\$162.5000		
13	T-Shirt, Adult SXL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Eagle Group	1 - Each	25	same	same	\$6.5000	\$162.5000		
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Eagle Group	1 - Each	50	saturn	1000	\$7.5000	\$375.0000		
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Eagle Group	1 - Each	100	same	same	\$7.5000	\$750.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Eagle Group	1 - Each	100	same	same	\$9.5000	\$950.0000		
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Eagle Group	1 - Each	25	same	same	\$9.5000	\$237.5000		
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Eagle Group	1 - Each	25	same	same	\$10.5000	\$262.5000		
19	T-Shirt, Tie Dye. Adult 5XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Eagle Group	1 - Each	25	same	same	\$11.5000	\$287.5000		
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	Eagle Group	1 - Each	60	Gildan	18000	\$8.5000	\$510.0000		
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Eagle Group	1 - Each	30	gildan	180000	\$8.5000	\$255.0000		
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Eagle Group	1 - Each	10	gildan	18000	\$10.5000	\$105.0000		
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Eagle Group	1 - Each	10	gildan	18000	\$11.5000	\$115.0000		
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Eagle Group	1 - Each	10	gildan	18000	\$12.5000	\$125.0000		
25	Screen set up fee.	•	*	Eagle Group	1 - Each	1	setup	setup	\$0.0000	\$0.0000		

26	Custom Design Fee.	•	*	Eagle Group	1 - Each	1	setup	setup	\$0.0000	\$0.0000		
27	Fee per word to add text on front and or back of shirt.	•	*	Eagle Group	1 - Each	1	setup	setup	\$0.0000	\$0.0000		
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest.  APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	SP Designs & Mfg, Inc.	1 - Each	250	Port & Company	PC54	\$3.7800	\$945.0000		
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	100	Port & Company	PC54	\$5.3000	\$530.0000		
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	50	Port & Company	PC54	\$6.1800	\$309.0000		
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	50	Port & Company	PC54	\$6.1800	\$309.0000		
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	25	Port & Company	PC54	\$6.1800	\$154.5000		
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000B or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	SP Designs & Mfg, Inc.	1 - Each	50	Port & Company	PC54Y	\$3.5400	\$177.0000		
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	800	Port & Company	PC54	\$3.7800	\$3,024.0000		
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	300	Port & Company	PC54	\$5.3000	\$1,590.0000		
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	100	Port & Company	PC54	\$6.1800	\$618.0000		
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	25	Port & Company	PC54	\$6.1800	\$154.5000		
13	T-Shirt, Adult 5XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	25	Port & Company	PC54	\$6.1800	\$154.5000		
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	SP Designs & Mfg, Inc.	1 - Each	50	Colortone	1000Y	\$7.8700	\$393.5000		

15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.		SP Designs & Mfg, Inc.	1 - Each	100	Colortone	1000	\$7.6100	\$761.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	SP Designs & Mfg, Inc.	1 - Each	100	Colortone	1000	\$10.6500	\$1,065.0000		
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	SP Designs & Mfg, Inc.	1 - Each	25	Colortone	1000	\$11.5100	\$287.7500		
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.		SP Designs & Mfg, Inc.	1 - Each	25	Colortone	1000	\$12.8900	\$322.2500		
19	T-Shirt, Tie Dye. Adult 5XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	SP Designs & Mfg, Inc.	1 - Each	25	Colortone	1000	\$13.1900	\$329.7500		
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	SP Designs & Mfg, Inc.	1 - Each	60	Port & Company	PC78	\$8.6600	\$519.6000		
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	30	Port & Company	PC78	\$10.6700	\$320.1000		
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	10	Port & Company	PC78	\$11.0500	\$110.5000		
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	10	Port & Company	PC78	\$11.0500	\$110.5000		
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	SP Designs & Mfg, Inc.	1 - Each	10	Port & Company	PC78	\$11.0500	\$110.5000		
25	Screen set up fee.	•	*	SP Designs & Mfg, Inc.	1 - Each	1	No charge	CUSTOM	\$0.0000	\$0.0000		
26	Custom Design Fee.	•	*	SP Designs & Mfg, Inc.	1 - Each	1	No charge	CUSTOM	\$0.0000	\$0.0000		
27	Fee per word to add text on front and or back of shirt.	•	*	SP Designs & Mfg, Inc.	1 - Each	1	See attachment for quantity pricing	CUSTOM	\$0.9000	\$0.9000	See attachment for quantity pricing ranging from .4590 per side and color	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	Paix Creations	1 - Each	250	Gildan 5000	G5000	\$4.3500	\$1,087.5000		

4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	100	Gildan 5000	G5000	\$6.4000	\$640.0000		
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	50	Gildan 5000	G5000	\$7.6500	\$382.5000		
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	50	Gildan 5000	G5000	\$7.6500	\$382.5000		
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest.  APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	25	Gildan 5000	G5000	\$7.6500	\$191.2500		
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000B or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	Paix Creations	1 - Each	50	Gildan 5000B	G5000B	\$4.2000	\$210.0000	Same price for one color or Multicolor, we print with DTF technology, we can print any design with HIGH details and Quality.	
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	800	Gildan 5000	G5000	\$4.5000	\$3,600.0000	Includes front and back printing on sizes discussed	
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	300	Gildan 5000	G5000	\$6.6500	\$1,995.0000	Includes front and back printing on sizes discussed	
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	100	Gildan 5000	G5000	\$7.8500	\$785.0000		
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	25	Gildan 5000	G5000	\$7.8500	\$196.2500		
13	T-Shirt, Adult 5XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Paix Creations	1 - Each	25	Gildan 5000	G5000	\$7.8500	\$196.2500		
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO.  Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Paix Creations	1 - Each	50	Port and Company	PC147Y	\$7.5500	\$377.5000		
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Paix Creations	1 - Each	100	Port and Company	PC147	\$7.8500	\$785.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Paix Creations	1 - Each	100	Port and Company	PC147	\$8.8500	\$885.0000		
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Paix Creations	1 - Each	25	Port and Company	PC147	\$9.8000	\$245.0000		

18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Paix Creations	1 - Each	25	Port and Company	PC147	\$9.8000	\$245.0000		
19	T-Shirt, Tie Dye. Adult 5XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Paix Creations	1 - Each	25	Port and Company	PC147	\$12.2500	\$306.2500		
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	Paix Creations	1 - Each	60	Gildan 18000	18000	\$9.1500	\$549.0000		
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Paix Creations	1 - Each	30	Glldan 18000	18000	\$12.5000	\$375.0000		
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Paix Creations	1 - Each	10	Gildan 18000	18000	\$14.9000	\$149.0000		
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Paix Creations	1 - Each	10	Gildan 18000	18000	\$14.9000	\$149.0000		
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Paix Creations	1 - Each	10	Gildan 18000	18000	\$14.9500	\$149.5000		
25	Screen set up fee.	•	*	Paix Creations	1 - Each	1	Paix Creations	Services	\$0.0000	\$0.0000	We will do the set up on us as a promotion	
26	Custom Design Fee.	•	*	Paix Creations	1 - Each	1	Paix Creations	Services	\$0.0000	\$0.0000	PROMOTION FREE.	
27	Fee per word to add text on front and or back of shirt.	•	*	Paix Creations	1 - Each	1	Paix Creations	Services	\$0.0000	\$0.0000	All prices includes what it was required on the purposal, so it won't be apply any extra unless is for designs 1-7 or 20-24. Those does not include on the price the	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	Alan Hyman Enterprises, Inc.	1 - Each	250	Gildan	5000	\$4.7600	\$1,190.0000		
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	100	Gildan	5000	\$7.4400	\$744.0000		
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	50	Gildan	5000	\$9.1000	\$455.0000		
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	50	Gildan	5000	\$9.1000	\$455.0000		

7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	25	Gildan	5000	\$9.1000	\$227.5000		
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #50008 or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	Alan Hyman Enterprises, Inc.	1 - Each	50	Gildan	5000B	\$4.2100	\$210.5000	Extra colors: 1st .42 each, 2nd .52 each, 3rd .67 each, 4th .77 each, 5th .84 each	
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	800	Gildan	5000	\$4.7600	\$3,808.0000		
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	300	Gildan	5000	\$7.4400	\$2,232.0000		
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	100	Gildan	5000	\$9.1000	\$910.0000		
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	25	Gildan	5000	\$9.1000	\$227.5000		
13	T-Shirt, Adult 5XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	25	Gildan	5000	\$9.1000	\$227.5000		
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO.  Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	50	Tie Dye USA	1000Y Saturn	\$8.0000	\$400.0000		
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	100	Tie Dye USA	1000 Saturn	\$8.0000	\$800.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	100	Tie Dye USA	1000 Saturn	\$10.0000	\$1,000.0000		
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	25	Tie Dye USA	1000 Saturn	\$10.6000	\$265.0000		
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	25	Tie Dye USA	1000 Saturn	\$12.0000	\$300.0000		
19	T-Shirt, Tie Dye. Adult SXL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO.  Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn  or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	25	Tie Dye USA	1000 Saturn	\$12.8500	\$321.2500		
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	Alan Hyman Enterprises, Inc.	1 - Each	60	Gildan	18000	\$12.0000	\$720.0000		

21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	30	Gildan	18000	\$15.5000	\$465.0000		
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	10	Gildan	18000	\$16.0000	\$160.0000		
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	10	Gildan	18000	\$16.0000	\$160.0000		
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Alan Hyman Enterprises, Inc.	1 - Each	10	Gildan	18000	\$16.0000	\$160.0000		
25	Screen set up fee.	•	*	Alan Hyman Enterprises, Inc.	1 - Each	1	N/A	N/A	\$0.0000	\$0.0000	No charge	
26	Custom Design Fee.	•	*	Alan Hyman Enterprises, Inc.	1 - Each	1	N/A	N/A	\$0.0000	\$0.0000	No charge	
27	Fee per word to add text on front and or back of shirt.	•	*	Alan Hyman Enterprises, Inc.	1 - Each	1	N/A	N/A	\$0.6300	\$0.6300	Price is good per location per shirt, regardless of word count.	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	MPC Promotions	1 - Each	250	Alphabroder / MPC	5000	\$6.4800	\$1,620.0000	These were priced with the 502 Food Works embroidery logo	
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	100	Alphabroder / MPC	5000	\$10.8900	\$1,089.0000	These were priced with the 502 Food Works embroidery logo	
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	50	Alphabroder / MPC	5000	\$10.8900	\$544.5000	These were priced with the 502 Food Works embroidery logo	
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	50	Alphabroder / MPC	5000	\$10.8900	\$544.5000	These were priced with the 502 Food Works embroidery logo	
7	T-Shirt, SXL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	25	Alphabroder / MPC	5000	\$10.8900	\$272.2500	These were priced with the 502 Food Works embroidery logo	
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #50008 or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.		MPC Promotions	1 - Each	50	Alphabroder / MPC	5000b	\$4.6400	\$232.0000		
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	800	Alphabroder / MPC	5000	\$4.3600	\$3,488.0000		

10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	300	Alphabroder / MPC	5000	\$6.3600	\$1,908.0000	See above notes - if chose another location and color configuration - add \$2 each for 2X size.	
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	100	Alphabroder / MPC	5000	\$8.3600	\$836.0000	See above notes - if chose another location and color configuration - add \$3 each for 3X-5X size.	
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	25	Alphabroder / MPC	5000	\$8.3600	\$209.0000	See above notes - if chose another location and color configuration - add \$3 each for 3X-5X size.	
13	T-Shirt, Adult SXL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	MPC Promotions	1 - Each	25	Alphabroder / MPC	5000	\$8.3600	\$209.0000	See above notes - if chose another location and color configuration - add \$3 each for 3X-5X size.	
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	MPC Promotions	1 - Each	50	S & S Activewear / MPC	1000y	\$10.7800	\$539.0000		
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	MPC Promotions	1 - Each	100	S & S Activewear / MPC	1000	\$10.3800	\$1,038.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	MPC Promotions	1 - Each	100	S & S Activewear / MPC	1000	\$11.3800	\$1,138.0000	See above notes - if chose another location and color configuration - add \$1 each for 2X size.	
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	MPC Promotions	1 - Each	25	S & S Activewear / MPC	1000	\$12.3800	\$309.5000	See above notes - if chose another location and color configuration - add \$2 each for 3X size.	
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	MPC Promotions	1 - Each	25	S & S Activewear / MPC	1000	\$13.3800	\$334.5000	See above notes - if chose another location and color configuration - add \$3 each for 4X size.	
19	T-Shirt, Tie Dye. Adult 5XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	MPC Promotions	1 - Each	25	S & S Activewear / MPC	1000	\$14.3800	\$359.5000	See above notes - if chose another location and color configuration - add \$4 each for 5X size.	
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	MPC Promotions	1 - Each	60	Alphabroder / MPC	18000	\$12.6500	\$759.0000	These were priced with the 502 Food Works embroidery logo	
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	MPC Promotions	1 - Each	30	Alphabroder / MPC	18000	\$16.7100	\$501.3000	These were priced with the 502 Food Works embroidery logo	
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	MPC Promotions	1 - Each	10	Alphabroder / MPC	18000	\$20.3500	\$203.5000	These were priced with the 502 Food Works embroidery logo	
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	MPC Promotions	1 - Each	10	Alphabroder / MPC	18000	\$20.3500	\$203.5000	These were priced with the 502 Food Works embroidery logo	

24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	MPC Promotions	1 - Each	10	Alphabroder / MPC	18000	\$20.3500	\$203.5000	These were priced with the 502 Food Works embroidery logo	
25	Screen set up fee.	•	*	MPC Promotions	1 - Each	1	MPC	SCREEN	\$0.0000	\$0.0000	All included in pricing above	
26	Custom Design Fee.	•	*	MPC Promotions	1 - Each	1	MPC	ART CHARGE	\$35.0000	\$35.0000	Used if need us to help create a design for you	
27	Fee per word to add text on front and or back of shirt.	•	*	MPC Promotions	1 - Each	1	MPC	PERSONALIZATION	\$5.0000	\$5.0000	5.00 each per embroidery personalization	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	Cintas	1 - Each	250	Gildan	5000	\$7.2500	\$1,812.5000	5000 Gildan	
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	100	Gildan	5000	\$9.2500	\$925.0000	5000 Gildan	
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	50	Gildan	5000	\$10.7500	\$537.5000	5000 Gildan	
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	50	Gildan	5000	\$10.7500	\$537.5000	5000 Gildan	
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	25	Gildan	5000	\$10.7500	\$268.7500	5000 Gildan	
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #50008 or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	Cintas	1 - Each	50	Gildan	5000B	\$4.5000	\$225.0000	2 colors Add .35 cents. For 3 colors add .65 cents. For 4 color add \$1.00. For 5 color add \$1.30.	
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	800	Gildan	5000	\$4.2500	\$3,400.0000	2 colors add .35 cents. 3 colors add .65 cents. 4 colors add \$1.00 5 colors add \$1.30	
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	300	Gildan	5000	\$6.5000	\$1,950.0000	2 colors add .35 cents. 3 colors add .65 cents. 4 colors add \$1.00. 5 colors add \$1.30	
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	100	Gildan	5000	\$8.2500	\$825.0000	2 colors add .35 cents. 3 colors add .65 cents. 4 colors add \$1.00. 5 colors add \$1.30	
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	25	Gildan	5000	\$8.2500	\$206.2500	2 colors add .35 cents. 3 colors add .65 cents. 4 colors add \$1.00. 5 colors add \$1.30	

13	T-Shirt, Adult SXL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Cintas	1 - Each	25	Gildan	5000	\$8.2500	\$206.2500	2 colors add .35 cents. 3 colors add .65 cents. 4 colors add \$1.00. 5 colors add \$1.30	
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Cintas	1 - Each	50	Port & Company	PC147Y Rainbow	\$9.0000	\$450.0000	2 colors add .40 cents. 3 colors add .75 cents. 4 colors add \$1.15. 5 colors add \$1.50	
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Cintas	1 - Each	100	Prime Plus	CD100 Eternity	\$9.8000	\$980.0000	2 colors add .40 cents. 3 colors add .75 cents. 4 colors add \$1.15. 5 colors add \$1.50	
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Cintas	1 - Each	100	Prime Plus	CD100 Eternity	\$14.2500	\$1,425.0000	2 colors add .40 cents. 3 colors add .75 cents. 4 colors add \$1.15. 5 colors add \$1.50	
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Cintas	1 - Each	25	Prime Plus	CD100 Eternity	\$15.4000	\$385.0000	2 colors add .40 cents. 3 colors add .75 cents. 4 colors add \$1.15. 5 colors add \$1.50	
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Cintas	1 - Each	25	Prime Plus	CD100 Eternity	\$17.4000	\$435.0000	2 colors add .40 cents. 3 colors add .75 cents. 4 colors add \$1.15. 5 colors add \$1.50	
19	T-Shirt, Tie Dye. Adult SXL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Cintas	1 - Each	25	Prime Plus	CD100 Eternity	\$18.3000	\$457.5000	2 colors add .40 cents. 3 colors add .75 cents. 4 colors add \$1.15. 5 colors add \$1.50	
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	Cintas	1 - Each	60	Gildan	18000	\$14.0000	\$840.0000	18000 Gildan	
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Cintas	1 - Each	30	Gildan	18000	\$16.2500	\$487.5000	18000 Gildan	
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Cintas	1 - Each	10	Gildan	18000	\$20.2500	\$202.5000	18000 Gildan	
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Cintas	1 - Each	10	Gildan	18000	\$20.2500	\$202.5000	18000 Gildan	
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Cintas	1 - Each	10	Gildan	18000	\$20.2500	\$202.5000	18000 Gildan	
25	Screen set up fee.	•	*	Cintas	1 - Each	1	Cintas	x125	\$0.0000	\$0.0000	This is included in prices	
26	Custom Design Fee.	•	*	Cintas	1 - Each	1	Cintas	x124	\$0.0000	\$0.0000	This is included in prices	

27	Fee per word to add text on front and or back of shirt.	•	*	Cintas	1 - Each	1	Cintas	x124	\$5.7500	\$5.7500	5.75 per side per shirt.	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	BSN Sports, LLC	1 - Each	250	GILDAN	5000	\$7.9400	\$1,985.0000	BSN SPORTS LLC	
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	100	GILDAN	5000	\$10.5800	\$1,058.0000	BSN SPORTS LLC	
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	50	GILDAN	5000	\$11.6100	\$580.5000	BSN SPORTS LLC	
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	50	GILDAN	5000	\$11.6100	\$580.5000	BSN SPORTS LLC	
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	25	GILDAN	5000	\$11.6100	\$290.2500	BSN SPORTS LLC	
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #50008 or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.		BSN Sports, LLC	1 - Each	50	GILDAN	5000B	\$5.8400	\$292.0000	BSN SPORTS LLC	
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	800	GILDAN	5000	\$4.2500	\$3,400.0000	BSN SPORTS LLC	
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	300	GILDAN	5000	\$6.8900	\$2,067.0000	BSN SPORTS LLC	
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	100	GILDAN	5000	\$7.9300	\$793.0000	BSN SPORTS LLC	
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	25	GILDAN	5000	\$7.9300	\$198.2500	BSN SPORTS LLC	
13	T-Shirt, Adult 5XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	BSN Sports, LLC	1 - Each	25	GILDAN	5000	\$7.9300	\$198.2500	BSN SPORTS LLC	
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	BSN Sports, LLC	1 - Each	50	PRIME PLUS	CD100Y	\$10.8500	\$542.5000	ALT BSN SPORTS LLC/ PRIME PLUS	
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	BSN Sports, LLC	1 - Each	100	PRIME PLUS	CD100	\$9.6800	\$968.0000	ALT BSN SPORTS LLC/ PRIME PLUS	

16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	BSN Sports, LLC	1 - Each	100	PRIME PLUS	CD101	\$13.0900	\$1,309.0000	ALT BSN SPORTS LLC/ PRIME PLUS	
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	BSN Sports, LLC	1 - Each	25	PRIME PLUS	CD102	\$14.0400	\$351.0000	ALT BSN SPORTS LLC/ PRIME PLUS	
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	BSN Sports, LLC	1 - Each	25	PRIME PLUS	CD103	\$15.6000	\$390.0000	ALT BSN SPORTS LLC/ PRIME PLUS	
19	T-Shirt, Tie Dye. Adult 5XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	BSN Sports, LLC	1 - Each	25	PRIME PLUS	CD104	\$15.6000	\$390.0000	ALT BSN SPORTS LLC/ PRIME PLUS	
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	BSN Sports, LLC	1 - Each	60	GILDAN	18000	\$16.4600	\$987.6000	BSN SPORTS LLC	
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	BSN Sports, LLC	1 - Each	30	GILDAN	18000	\$19.0600	\$571.8000	BSN SPORTS LLC	
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	BSN Sports, LLC	1 - Each	10	GILDAN	18000	\$22.0500	\$220.5000	BSN SPORTS LLC	
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	BSN Sports, LLC	1 - Each	10	GILDAN	18000	\$22.0500	\$220.5000	BSN SPORTS LLC	
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	BSN Sports, LLC	1 - Each	10	GILDAN	18000	\$22.0500	\$220.5000	BSN SPORTS LLC	
25	Screen set up fee.	•	*	BSN Sports, LLC	1 - Each	1						
26	Custom Design Fee.	•	*	BSN Sports, LLC	1 - Each	1						
27	Fee per word to add text on front and or back of shirt.	•	*	BSN Sports, LLC	1 - Each	1	BSN SPORTS LLC	LOCATE	\$6.0000	\$6.0000	per unit 1 color cost per additional location	
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	Progressive Marketing	1 - Each	250	Gildan	5000	\$6.5700	\$1,642.5000		
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	100	Gildan	5000	\$10.9900	\$1,099.0000		

5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest.  APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	50	Gildan	5000	\$14.4300	\$721.5000		
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	50	Gildan	5000	\$14.4300	\$721.5000		
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest.  APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	25	Gildan	5000	\$14.4300	\$360.7500		
8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000B or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	Progressive Marketing	1 - Each	50	Gildan	5000B	\$9.8700	\$493.5000		
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	800	Gildan	5000	\$5.8600	\$4,688.0000		
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	300	Gildan	5000	\$9.2000	\$2,760.0000		
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	100	Gildan	5000	\$12.6300	\$1,263.0000		
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	25	Gildan	5000	\$16.5800	\$414.5000		
13	T-Shirt, Adult SXL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Progressive Marketing	1 - Each	25	Gildan	5000	\$16.5800	\$414.5000		
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO.  Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Progressive Marketing	1 - Each	50	Port & Company	PC149Y	\$13.8500	\$692.5000		
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Progressive Marketing	1 - Each	100	Port & Company	PC149	\$12.7600	\$1,276.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Progressive Marketing	1 - Each	100	Port & Company	PC149	\$14.1900	\$1,419.0000		
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Progressive Marketing	1 - Each	25	Port & Company	PC149	\$19.5600	\$489.0000		
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO.  Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Progressive Marketing	1 - Each	25	Port & Company	PC149	\$19.5600	\$489.0000		
	1											

19	T-Shirt, Tie Dye. Adult SXL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO.  Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Progressive Marketing	1 - Each	25	Port & Company	PC149	\$19.5600	\$489.0000		
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	Progressive Marketing	1 - Each	60	Gildan	18000	\$18.0800	\$1,084.8000		
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Progressive Marketing	1 - Each	30	Gildan	18000	\$21.8400	\$655.2000		
22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Progressive Marketing	1 - Each	10	Gildan	18000	\$32.1400	\$321.4000		
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Progressive Marketing	1 - Each	10	Gildan	18000	\$32.1400	\$321.4000		
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Progressive Marketing	1 - Each	10	Gildan	18000	\$32.1400	\$321.4000		
25	Screen set up fee.	·	*	Progressive Marketing	1 - Each	1	0	0	\$0.0000	\$0.0000		
26	Custom Design Fee.	·	*	Progressive Marketing	1 - Each	1	0	0	\$0.0000	\$0.0000		
27	Fee per word to add text on front and or back of shirt.	·	*	Progressive Marketing	1 - Each	1	0	0	\$0.0000	\$0.0000		
3	T-Shirt, Small - XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	4600975-2013386	Ad-Venture Promotions	1 - Each	250	Sanmar	Gildan 5000	\$25.0000	\$6,250.0000		
4	T-Shirt, 2XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	100	Sanmar	Gildan 5000	\$30.0000	\$3,000.0000		
5	T-Shirt, 3XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	50	Sanmar	Gildan 5000	\$30.0000	\$1,500.0000		
6	T-Shirt, 4XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	50	Sanmar	Gildan 5000	\$30.0000	\$1,500.0000		
7	T-Shirt, 5XL. Royal Blue #7686C.	Preshrunk Heavy. 502 Food Works logo on the left chest. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	25	Sanmar	Gildan 5000	\$30.0000	\$750.0000		

8	T-Shirt, Youth Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #50008 or equal. VENDOR RESPONSE NOTES: please list additional charges per color, up to five (5) colors for Line Items 8-19.	4600975-2014326	Ad-Venture Promotions	1 - Each	50	Sanmar	Gildan 5000	\$25.0000	\$1,250.0000		
9	T-Shirt, Adult Small - XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	800	Sanmar	Gildan 5000	\$25.0000	\$20,000.0000		
10	T-Shirt, Adult 2XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	300	Sanmar	Gildan 5000	\$30.0000	\$9,000.0000		
11	T-Shirt, Adult 3XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	100	Sanmar	Gildan 5000	\$30.0000	\$3,000.0000		
12	T-Shirt, Adult 4XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	25	Sanmar	Gildan 5000	\$30.0000	\$750.0000		
13	T-Shirt, Adult 5XL. Various colors per catalog.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Gildan #5000 or equal.	*	Ad-Venture Promotions	1 - Each	25	Sanmar	Gildan 5000	\$30.0000	\$750.0000		
14	T-Shirt, Tie Dye. Youth Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Ad-Venture Promotions	1 - Each	50	Sanmar	Colortone 1000	\$35.0000	\$1,750.0000		
15	T-Shirt, Tie Dye. Adult Small - XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Ad-Venture Promotions	1 - Each	100	Sanmar	Colortone 1000	\$35.0000	\$3,500.0000		
16	T-Shirt, Tie Dye. Adult 2XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Ad-Venture Promotions	1 - Each	100	Sanmar	Colortone 1000	\$40.0000	\$4,000.0000		
17	T-Shirt, Tie Dye. Adult 3XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Ad-Venture Promotions	1 - Each	25	Sanmar	Colortone 1000	\$40.0000	\$1,000.0000		
18	T-Shirt, Tie Dye. Adult 4XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Ad-Venture Promotions	1 - Each	25	Sanmar	Colortone 1000	\$40.0000	\$1,000.0000		
19	T-Shirt, Tie Dye. Adult 5XL.	PROVIDE PRICING FOR 1 COLOR SILK SCREEN PRINTED LOGO. Preshrunk Heavy. APPROVED PRODUCT: Tie Dye USA - 1000 Saturn or equal.	*	Ad-Venture Promotions	1 - Each	25	Sanmar	Colortone 1000	\$40.0000	\$1,000.0000		
20	Sweatshirt, S-XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	4600975-2013388	Ad-Venture Promotions	1 - Each	60	Sanmar	Gildan 18000	\$50.0000	\$3,000.0000		
21	Sweatshirt, 2XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	•	Ad-Venture Promotions	1 - Each	30	Sanmar	Gildan 18000	\$55.0000	\$1,650.0000		

22	Sweatshirt, 3XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Ad-Venture Promotions	1 - Each	10	Sanmar	Gildan 18000	\$55.0000	\$550.0000		
23	Sweatshirt, 4XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Ad-Venture Promotions	1 - Each	10	Sanmar	Gildan 18000	\$55.0000	\$550.0000		
24	Sweatshirt, 5XL. Royal Blue #051.	Heavy blend 50% cotton, 50% polyester. 502 Food Works Logo on left chest. APPROVED PRODUCT: Gildan #18000 or equal.	*	Ad-Venture Promotions	1 - Each	10	Sanmar	Gildan 18000	\$55.0000	\$550.0000		
25	Screen set up fee.		*	Ad-Venture Promotions	1 - Each	1	Ad-Venture Promotions	1	\$30.0000	\$30.0000	Please note this fee is per color.	
26	Custom Design Fee.		*	Ad-Venture Promotions	1 - Each	1	Ad-Venture Promotions	2	\$30.0000	\$30.0000		
27	Fee per word to add text on front and or back of shirt.	•	*	Ad-Venture Promotions	1 - Each	1	Ad-Venture Promotions	3	\$30.0000	\$30.0000		

## **Bid Summary**

## JEFFERSON COUNTY PUBLIC SCHOOLS

**Event Name:** T-SHIRTS & SWEATSHIRTS (NUTRITION SERVICES)

Event ID: JCPS-8444

Lot Item Nos. 1-2	Vendor	Complete Lot	Bid Total	Award Total
	Cintas	<b>√</b>	\$9,250.0000	\$0.0000
	MPC Promotions	<b>√</b>	\$12,967.2500	\$0.0000
	The 10th Planet	<b>√</b>	\$9,687.5000	\$0.0000
	Eagle Group	✓	\$7,010.0000	\$7,010.0000
	Paix Creations	<b>√</b>	\$9,250.0000	\$0.0000
Lot Item Nos. 3-27	Vendor	Complete Lot	Bid Total	Award Total
	The 10th Planet	<b>√</b>	\$11,872.2500	\$11,872.2500
	SP Designs	<b>√</b>	\$12,296.8500	\$0.0000
	Eagle Group	<b>√</b>	\$12,307.5000	\$0.0000
	Paix Creations	<b>√</b>	\$13,881.5000	\$0.0000
	Alan Hyman	✓	\$15,438.8800	\$0.0000
	MPC Promotions	<b>√</b>	\$16,581.5500	\$0.0000
	Cintas	<b>√</b>	\$16,967.0000	\$0.0000
	BSN Sports	<b>√</b>	\$17,620.1500	\$0.0000
	Progressive Marketing	<b>√</b>	\$22,137.4500	\$0.0000
	Ad-Venture Promotions	<b>√</b>	\$66,390.0000	\$0.0000